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. 2500 ml

. 570 ml
n. 12000 ml
IV. 83 ml

2.

. 80001
. 130001
. 42001
IVv. 1.8521
V. 160001

3. 4mx3mx2m
=24 m3
=24 0001

24 0001
3001
= 80 min
= 1h 20min

4. 40cmx2200cm x 30 cm
=2 640 000 cm?
=2 640 000 ml
=26401

5. 35cm x 20cmxh =21 000 ml

700 cm? x h = 21 000 cm3
700 cm? 700 cm?

h=30cm
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3. ml, 1 cm3, m3...
4.2mx 1.5mx 0.8m =24 m3 =24001

. 250cm x 150cm x 90cm = 3 375 000 cm3
. 3375000 ml
. 33751

6. 100cm? x 8cm = 800 cm3 = 800 ml

7. Ax15cm = 3000 ml
A x15cm = 3000 cm3

15cm 15cm
A =200 cm?
8.
. 2475 cm3
. Ax11cm =2475ml
A x11 cm = 2475 cm3
11 cm 11 cm
A =225 cm?
. +/225=15cm
9. Imx1mx2m, 0.5m x2m x 2m, 0.5S5mx4mx 1m

10. 2m x Imx h=14001
2m2 x h = 1.4m3
2m?2 2m?2

h=0.7m
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